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Part - I1I
MATHEMATICS (COMMERCE)

Maximum : 80 Scores
Time : 2% Hours

Cool off time : 15 Minutes

f General Instructions to Candidates : \

afleyodmal&R 60188 eald®) MIDEGaB®D:

There is a 'Cool off time' of 15 minutes in addition to the writing time.

Use the 'Cool off time' to get familiar with questions and to plan your
answers.

Read the instructions carefully.

Read the questions carefully before answering.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.
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Answer any six questions
from 1 to 7. Each carries three
scores. (6 x3=18)
1. Inaclass, 38 like to play cricket,
20 like to play foot ball and 8 like
to play both the games.
a) Represent the data by using
a Venn diagram. (2)
b) How many play exactly one

game? (1)

2. a) If (x+2, y-1)=(5,4), then
the values of x and y are ...... (1)
b) Let f(x)=x" and
g(x)=x-1 be two real
functions. Find (f+g)(x)
and (f+2)(2). (2)

3. If Z=1++3i

Find :
a) the conjugate of Z. (1)
b) the Polar form of Z. (2)

K-26

1

FY 51

0@ 7 aeowias 6al0c)aBalm

age®msslelo 6 ag)eROTIM HEMOORP B ).

3 Me®»od aflmo.

3.

80} goqfloer 38 HSlodes) (@leng
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a) (x+2, y-1)=(5,4) coeems)
@, X-eOMRWIo Y-@IOSWo flels:td

b) f(x)=2", g(x) =x-1 agaml
o o6 coell® aneRaUmMiEa0
oemead (f+g)(x), (f+g)(2)

agymilal @ensialISloed:.
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a) Z-of B0 EBRIENG’

#6130 l1S166))6.

b) Z-e@ 8al0god ®galo
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(6 x 3=18)
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4.

a) If "C; = "C;, then the value

b) How many 4 digit numbers
can be formed by using the
digits 1 to 9, if the repetition

of digits is not allowed?

a) If the n' term of a Geometric
Progression with first term a
and common ratio 7 is ......

1) ar*t
i) ar" -1
iii) ar”
iv) a"*r

b) In a Geometric progression,
the second term is 12 and the

fifth term 1s 768. Find the

first term and common ratio.

Consider the points A(2, 3) and

B(4, 2). Determine :

a) the slope of the line AB.

b) the equation of the line AB.

¢) the slope of the line which is
parallel to line AB.
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i) ar™?t
i) ar® -1
i) ar”
iv) a"*r
b) &y amemio euyenilwes osneoo
alBo 12-90 @600 alBo 768-60
@M. (Mo alBQllo &aldmy

DY 86N l1SIB6) 1.

A(2,3) , B(4,2) aganl enflas,
HORD AIBINEMIH)Bs.

oY 605311 H6M Ol
#6180 1S166))8.

a) AB agm coau@ies aidlal

b) AB agm coeu@ies muaniodyo

c) AB agm cosuiss ruaonmneaowi
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7.

a) If A and B are mutually
exclusive then

P(ANB) is...
b) When two dice are rolled

events,

(1

once, find the probability of
getting a
than 10.

sum greater

(2)

Answer any eight questions

from 8 to 17. Each carries four

scores.

10.

(8 x 4 = 32)

Let A={2, 4,6} and B={1, 3}
Find :
a) AxB

' (2)
b) the number of relations from
¢) the Roster form of the

relation
R= { (x,y):y=x-1xeA, yeB} (1)
the

Consider statement,

Prove that

a) P(1) is true. (1)

b) P(n) is true by principle of
3)

mathematical induction.

Find the square root of the
(4)

complex number 3+41i.
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7. a) AB ogmial alomaleo e¥lauo
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P(ANB) v @6,
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8 oo 17 cueow)es e219B)yeBsla
agem®slale 8 ag)eRATINT OMOORYI®)H:.

4 We®od aflmo.

8. A={2 4,6} ,B:{l, 3} @eemaid
HHOG, ®IOY OBISIOMIO]H6HIMA
#6na)allSles))ds.

a) AxB
b) A-ol@ amlmie B-wleaisegs

IMWETBRIOS ag)eo-

(8)(4:

(1)

(2)

32)

(2)

(1)

c) R :{(x, y):y :x—l,xeA,yeB}

ag)m enIwETla c0oaud lo. (1)

)M (alaV@OQUM  al@lm6emlee)ids.
a) P (1) ndwoesmm? omeleoe.

b) Ndmialld &oad aoemaglencd
endwsaum® palewoudle P(n)

»ElIeeMO O®EIQE6)E:.

10. 3+4i agm G&dog M MoalyWIeS

QUB@R@BI0 H:06M)b>.

(1)

(3)

(4)



11.

12.

13.

a) Expand (1—3x)5 by using
binomial theorem.
b) Find the term, independent

of 'x' in the expansion of

( 12
x+=| .
X

Consider the point (1, —2) and
the line x—-2y+3=0.
Find :

a) the distance of the given

point from the given line.

b) the equation of another line
which is perpendicular to the
given line and passing

through the given point.

a) If S, =12+22+3%+.....+n?,

b) Find the sum to n terms of

the sequence 7, 77, 777, .......
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a) eemiemoalw@ Glwoo Halewd

laf (1- 3x)5 e eNledlee)bs.

12
b) (x+;j -o@ aflaeimeslea

'x' 9D6OQSOE® alBo densialls]

BEYB>.

(1,-2) agyom enflozyaye x —2y+3=0

)M GOEUWI0 al@lEMIHE)Hs.

a) omldenim cosul@ mlamio
omilaloenymm enflmialicelsnias

B)00 B6M8)a(ISIH6)bs.

b) @mmidleanm soeu®es eloenimd
o mmIldleeym enflazallees
@SN} BaIOBIM@mMIW QORI
BOEUWYOS qVAQIOEYo

#6180 l1S166))8.

a) S, =12+22+43%+. .. .+n?

b) 7, 77, 777 ... ag)Mm U]
WIS EDEIOOD N olBEBRRIOS

©Y> N3 lISIee)ws.
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14. Consider the parabola y? = 8x .
Find :

a)

b)

¢)

15. a)

b)

16. a)

b)

17. a)

K-26

the focus of the given
parabola.

length of the latus rectum of
the given parabola.

the equation of a circle with
centre at the focus of the
given parabola and having

radius 5 units.

The distance between the
points (-2, 1, 3) and (2, 1, -3)
T TN

Find the ratio in which the
YZ plane divides the line
segment formed by joining
the points (-2, 4, 7) and
(3, -5, 8).

Lim f(x+h)-f(x) .
h—-0 h

i f(r) i) f(h)
i) f'(x)  iv) O

Si d
1fy=x+'l”x,thanﬁnd—%.

x—-Sinx d

The contrapositive statement
of p=qis ............

) g=p

i) ~g=>~p

i) ~p=>~q

) ~qg=>p

(1)

(D

(2)

(D

3)

(1)

3)
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y? = 8x ag)0M al00EsNI8 aldlmemla]
®O6'Y 605311 H6M Ol
6N330 15166236

a) @mMIAlEHIM alEOECMIISWINS
BaNOHOV.

b) ®@mlalenm aleoemIogWieS
RI0QMY OOB:So.

c) @@oo 5 w@iemlglo @& (Mo
®MIR1BOHIM al@OCNIOSWINS
BaNOHNH M0 @0 3 (M
QUEDETER TVRAIOB0.

a) (_27 19 3)’ (27 15 _3) og)(rn‘"l m_ﬂ(TB&

#HOD OOIENSS BJOO ... @D6N).

b) (-2, 4, 7), (3, =5, 8) agmi
nfl3eo@ ewogdlallonymm eoelo
EUEMWe ™ YZ ®elo af® @ooud
enIMWEMIE @0UleenmMy?

a) Lim M
h_>0 h .................

) f(h) iy f'(h)
i) f/(x)  iv) O

b) x+Sinx 10 dy

= 66M ;s —

J x—-Sinx o dx
613 l1S166))8.

a) P=>¢ oM (@IV®OUMQIOS
B806M(SO BaloMIIGlal ..............
@R6I).

i) g=p

) ~q=~p
i) ~p=>~q
v) ~q=p

e

(1)

(2)

e

(3)

e

3)

(1)



b) By using the contradiction
method, prove that "./11 is

irrational". (3)
Answer any five questions
from 18 to 24. Each carries six
scores. (5 x 6 =30)
18. If U={1, 2,3,4,5,6,17, 8}

P={2, 3,4, 6, 7}

Q={1,3,6,8)

a) Determine PUQ, P-@Q (2)
b) Determine P', Q' (2)
¢) Verify that

(PUQ) =P NQ (2)
19. a) Convert 3 radians to

degree measure. (1

b) Show that
Sin7x + Sin3x — Tunb (2)
Cos Tx + Cos 3x

¢) Prove that

Tan3x- Tan2x- Tanx =

Tan3x — Tan2x - Tanx (3)
20. a) Solve the inequality

22(536—2)_(796—3) (2)

2 3 5

b) Solve the following system of
inequalities graphically :

3x +4y <24

x+ y> 3
x> 2
y> 0 4)
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b) esoemdisulBaumd A@l oaleous]

o] "\f/11 is irrational" agm

(o I@OOUM @S QAE6))8:.

3)

18 njom 24 cueowigs 6alocyamglm
agem®mslalo 5 ag)eRATINT HOMOORYI®)E:.
6 mes0d aflmo. (5 x 6 = 30)
18. U={1,2,3,4,5,6,7, 8}
P={2,3,4,6,7}
Q@={1,3, 6,8}

a) PUQ, P-Q

6M83a 1166218

agymlicd
(2)

b) P, Q agarlau eesalidlens.  (2)

0 (PUQ) =P NQ cdwosemo

)M al@lBUoOUSIEE) .

(2)

3
DOQYHs.

Sin7x + Sin3x _ Tan 5
b) Cos Tx + Cos 3x

)M em&QflE6)b:.

19. a) coul, Wil @raaleales

(1

(2)
¢) Tan3x-Tan2x-Tanx =
Tan3x — Tan2x— Tanx

g OO E6)H. 3)

>(5x—2)_(7x—3)

20. a)

x
2 3 5
ag)(M @OMOMQIOS al@laOd00
06N (2)
b) ®oe¥ B:05)mBden M @RMLA®

&R (Noal HaleoUle] aldladd®o

B06M)>.

3x +4y <24
x+ y=2 3
x> 2
y= 0 (4)
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21.

22.

23.

24.
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a) If 2"C3:" 3 =11:1, then find 21. a) 2"CE,):” 3 =11:1 GeoWOM ...
the value of 'n'. (4) 'n'-o@ aller @eneie1Slenis.

b) How many words with or b) SWIMMING g aiossles
without meaning can be QGEJO BOBUOEBEL0 HalEWOIUSla],
formed by using all letters of @OATOMEI®Ie BOAO®AALOEDD®Y
the word SWIMMING? 2) DOW ag)(® QUILOBHUD OENBOEOI0?

a) PI’OVQ that the mean Of flrit 22. a) (e@ebom) 'n' Qg)%m% (TDOG)‘LB

n +
7' natural numbers is — (2) oaes 20w L1 epesmes

b) Find the median and mean OO B) .
deviation about median for b) ®oew 6050010186 I0M
the following observations : (Ioalmomemgins  alalwmyo
9.8.3.5 4.6.17. 1) M @DV IBRdHs] almd

alafleaumyo &06m .
9,8,3,5,4,6,17.

Consider the data given below. 23. ooeY oH0s5)mdleNM  WoQ

BINETE6))b.
Marks
) 0-10 10-20 20-30 30—40 40-50
[lelGE:1
No. of students
allayodmdlegies agemo 5 9 17 14 5

Determine : a) @oWyo BenBlallslee)ss

a) the mean (2) b) gyomewdw’ alaNewau

b) the standard deviation 3) 61183015106

¢) the coefficient of variation (1) ¢)  e0ag)adlayyf B0al GUGlEanudd

#6n3al1Sle6))ds.
Let S be the sample space and A 24. A/B ogyomiau, S agyom avomild
and B be two events in S, such wealmlenss o eaI@e®d
1 1

that P(4)=. P(B)= and eoaemaridenns.

1 P(A)=3, P(B)=¢,

P(AﬂB):Z, 2 1 3

—_ . @OOMBIM @Iy

Find : P(AHB) 4

60O BlBEYMAU 6N 1S]66)3d.
a) P(Aor B) (2)
a) P(Aor B)
b) P (not A) (1)
b) P (not A)
¢) P (not A and not B) (2)
] ¢) P (not A and not B)
d) n(S)if n(4) =5 (1)
d) n(A) = 5 epeemsldd n(S)
8
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